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1.  Specify the base and exponent. 
 
 a.  34   The base is 3, and the exponent is 4. 

 

b.  -3( )4  The base is -3, and the exponent is 4. 
 
c.  -34   The base is 3, and the exponent is 4. 

 
2.  Write the following in exponential notation. 

 
a.

 
15!15!15 =153

  
b.  7 !7 !7 !7 !7 = 75  

 

c. -9 ! -9 = -9( )2  
 

d.  -10( ) -10( ) -10( ) -10( ) -10( ) -10( ) = -10( )6  

 
3.  Simplify. 

 
a. -42 = - 4( ) 4( ) = -16  

 

b. -4( )2 = -4( ) -4( ) =16  
 

c. 42 = 4( ) 4( ) =16  
 

d. - 4( )2 = - 4( ) 4( ) = -16  
 

 e.  - -4( )2 = - -4( ) -4( ) = -16  


